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MATHS

BOOKS - PSEB (PUNJABI MEDIUM)

mMBAggdt femiaa

1.95 &3 32 o573 f&g, 98, Mus »3 ¥id grfe3a fafantel @ yuar

3ae Je, € ife3a fenird yru3 a3:- it ¢ 89 2 § wege|

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wKi3fU1tMdbz

2.35 fd3 I8 o573 fég, 98, Mus 3 vid gife3d fafamret & yuar

3¢ Je, €I J1fe3a fenira Y3 &3:- Aftmel 2 mi3 y B Az T i

° Watch Video Solution

3.3 3 92 o&3 fe9, 98, mios w3 nid gife3a fafanret & ydar
3Je Je, Hir a1fe3a fanfra Y3 dg:- HitmT 2 § mmue mry &8 g
3T Arer I

° Watch Video Solution

4. 35 fd3 32 o513 €9, 98, IS »3 vig Jife3a fafanret & ydar
gde Jde, "I arfe3a fenfad Y3 da:- Aftrel p ni3 ¢ € Ieaes ©
fa-ggmet|

° Watch Video Solution



https://dl.doubtnut.com/l/_7dszPILDRCrr
https://dl.doubtnut.com/l/_ClP1k44lKjx3
https://dl.doubtnut.com/l/_j0VxaGk81CqD

5.9 f&3 98 o33 fE9, 98, Mus 3 Mg aife3d fafanret e yaar

3¢ Je, HiF arfezd fenfraa yru3 aa:- B Aftmiret ¢ w3 y & Egar
& Hfgn Aier I

° Watch Video Solution

6.3 &3 92 o&3 f9, 98, mos w3 nid gife3a fafanret & ydar
gde Je, €A grfe3a fenfad yru3 a3:- Aftmel m i3 n 8 dieaes 2
B& gre feg Hfunr 5 A3

° Watch Video Solution

7.35 &3 32 a&13 €9, 98, Mus M3 wig dife3d fafanret & yaar

gde Je, € grfe3a fenfad yu3 ad:- 10 fed Afumm y »i3 2 &

JeEes S W8T


https://dl.doubtnut.com/l/_j0VxaGk81CqD
https://dl.doubtnut.com/l/_bJ0BqigblvUp
https://dl.doubtnut.com/l/_1TpAAIaTsByy
https://dl.doubtnut.com/l/_OuxcAaHnnhoU

° Watch Video Solution

8.95 fd3 J¢ o&13 {9, 98, WIS W3 nid aife3d fafgnet e yuiar

dde Je, HiF a1fe3d feniad Y3 aa:- wftmiet ¢ m3 b © Jeaes
f&d BAe A3es & weg|

° Watch Video Solution

9.da fd3 fenird 2 uei ni3 a1 @ geads’ § gl uei M3 84 &

3t g edu3 fd3gema R eagn 8-z — 3

° Watch Video Solution

10. 35 f&3 fenira 2 uei »3 a1 @ gredst S ugrel uei m3 8T 2

Jeadst U3 ffsg e @ Ean 8 - 1 + ¢ +

| o |


https://dl.doubtnut.com/l/_OuxcAaHnnhoU
https://dl.doubtnut.com/l/_vT39rgUO2ChZ
https://dl.doubtnut.com/l/_mDoqdUU4oli5
https://dl.doubtnut.com/l/_xvBWUiEEZQ2c

| & Watch Video Solution

11.35 &3 feonfrd € uei i3 85 & greads § ugrdl uei i3 85 @

ISt § ey ii3gemma @ Eam 8 -y — of°

° Watch Video Solution

12. 35 fd3 fenina € uei m3 8% € Jieadst S Ul uei n3 8T 2

Tzt & Tdy3 939 ©rar & €am'S - 5zy? + T2y

° Watch Video Solution

13. 95 i3 fenina © uei m3 8% € Jreadst Syl uei n3 85T 2

ISt § edu3 iS3g e @ €A 8 :- —ab + 2b° — 3a®

° Watch Video Solution



https://dl.doubtnut.com/l/_xvBWUiEEZQ2c
https://dl.doubtnut.com/l/_ztduiHNnd5sd
https://dl.doubtnut.com/l/_KbDQj98VzDyb
https://dl.doubtnut.com/l/_pADxdM5zqWKC

14. 35 {3 fenina feg uei i3 B@T & Jeads §8id- —4z + 5

° Watch Video Solution

15. 35 13 fenira feg uei i3 89 @ greadst § 8fe- — 4z + by

° Watch Video Solution

16. I3 f3 fenina feg uet i3 89 @ gresdat §&fe:- 5y + 3y

o Watch Video Solution

17. 35 13 ferina feg uei w3 6% @ Iecddst § 8- xy + 22%y°

o Watch Video Solution



https://dl.doubtnut.com/l/_qCnQHYJIEmro
https://dl.doubtnut.com/l/_RL6SU2tQlLj4
https://dl.doubtnut.com/l/_ZqaCOd1tdXd0
https://dl.doubtnut.com/l/_RFfZMrcuVPr4

18. 35 13 fenira feg et mi3 8% @ grecdist § 8ie:- pq + q

° Watch Video Solution

19. I35 &3 feniAa few el »3 B’ € TJeods' & &c:-

1.2ab — 2.4b + 3.6a

° Watch Video Solution

20,35 83 fevre i e i3 8 2 e 2 S+

o Watch Video Solution

21. I35 &3 fewins feg uel w3 €g 2 qeads’ § s

0.1p* + 0.2¢*



https://dl.doubtnut.com/l/_baGzKKTvwAKa
https://dl.doubtnut.com/l/_nxdrfjqdAPtq
https://dl.doubtnut.com/l/_X2CdcNAsvNbk
https://dl.doubtnut.com/l/_gtacIW7rGbQj

o Watch Video Solution

22. I& &3 fenfaat fég uet @ Aftm3a gieia, / mas & dT, <t

UYSE & :- 5 — 3t

° Watch Video Solution

23. I5 &3 fenfaat €9 uet © Aftm3g Icia, 7 Ma9s & J<, ©f

Ugedagd:-1 4+t + 2+ 88

o Watch Video Solution

24. I& &3 fenfaat fég ue © Aft3a gieia, 7 ma® & dg, <1

UgEdd -z + 2xy + 3y

° Watch Video Solution



https://dl.doubtnut.com/l/_gtacIW7rGbQj
https://dl.doubtnut.com/l/_R983phuMmq2x
https://dl.doubtnut.com/l/_kfishBqBkHkA
https://dl.doubtnut.com/l/_rem0xH81xHjr

25. I& &3 fenfaat fég uet @ Aftmsa gieia, # mes & dT, <t

Yz 99 :- 100m + 1000n

° Watch Video Solution

26. I5 &3 feriaar €9 uet © Afm3g gefa, 1t M98 & d, ©f

UgE a9 - — pPg® + Tpq

° Watch Video Solution

27. 35 &3 feniaat fég ue @ Afymm3a gieia, 1 Mes & J, ©f

ygie dd - 1.2a + 0.8b

° Watch Video Solution



https://dl.doubtnut.com/l/_rem0xH81xHjr
https://dl.doubtnut.com/l/_raqMlyTZZkZO
https://dl.doubtnut.com/l/_JxOvnyDyLm5n
https://dl.doubtnut.com/l/_udIg4rgpW4oN
https://dl.doubtnut.com/l/_J8vOFMCyJSXZ

28. I& &3 fenfaat €9 uet © Aftm3g gcia, 7 M98 & J<, ©f

USTE d9 :- 3.147r2

° Watch Video Solution

29. I5 &3 ferfaar €9 uet © Aftm3g gcfa, 1t M98 & J, ©f

ygE dd - 2(1 + b)

° Watch Video Solution

30. d& &3 feriaat €9 uet @ A3 gieie, 7 MY® & Jd<, <t

Yg'E &3 - 0.1y + 0.01y2

° Watch Video Solution



https://dl.doubtnut.com/l/_J8vOFMCyJSXZ
https://dl.doubtnut.com/l/_l1neUSzF97vs
https://dl.doubtnut.com/l/_O3oezp3aDDSE

31. 8T ue yge fAq feg z 9 »3 fag feg €9 2 = greia 54

v’z +y

° Watch Video Solution

32. 69 ve ygrd i feg o 3 w3 fag fogy 69 & @ e fisdi-

13y — 8Syx

° Watch Video Solution

33. 89 yT yge frg feg ¢ J w3 feg feg’ €9 = & gre=fd fod-

z+y+2

o Watch Video Solution



https://dl.doubtnut.com/l/_PDM6BEnIcFRx
https://dl.doubtnut.com/l/_KsUaIpIgF876
https://dl.doubtnut.com/l/_c3RhIJej062J

34. 87 T g g feg z I »13 feg e f€g 2 = greia 54

5+ z+4+ zx

° Watch Video Solution

35. 69 ve yg'd i feg o 3 w3 fag fogy 69 & @ e fisdh

l14+z+zy

° Watch Video Solution

36. 80 uT yge frg feg ¢ J »3 feg feg’ €9 = = gre=id fod-

12zy* + 25

o Watch Video Solution



https://dl.doubtnut.com/l/_FyduDRfFeiim
https://dl.doubtnut.com/l/_s5uXI5R2jGVr
https://dl.doubtnut.com/l/_dFCSODLYk1m6

37. €9 Ue Use g feg = I mi3 feg feg €9 = = grefa fsd-

7+ zy?

° Watch Video Solution

38. 67 g e fig few o 3 w3 fem Ry Ty

i —8-xy"2

° Watch Video Solution

30. 80 e ugd fig few o @ w3 fog fog R 473

: — 5y"2+7x

o Watch Video Solution



https://dl.doubtnut.com/l/_9sfbEhC5JhWv
https://dl.doubtnut.com/l/_sMbsZ2C1Ilds
https://dl.doubtnut.com/l/_h3XphOd999Oq

40. 87 U uSE fig few o2 3 w3 feg oy ROy

1 — 2x"2 y-15xy"2 +7y"2°

° Watch Video Solution

41. 35 &3 feniaa & Ria yet, € udt »3 35 udt @ gu &9 €3:-

dy — Tz

° Watch Video Solution

42,35 13 ferira & a uet, € uet w3 o uet @ qu e €3:-

° Watch Video Solution



https://dl.doubtnut.com/l/_2RlhxpKv3eUp
https://dl.doubtnut.com/l/_uPtY3gfU6HYn
https://dl.doubtnut.com/l/_UoXtP0wATPTb

43. 35 I3 fenima § fea ud, @ udt w3 35 et @ gu &g €3:-

r+y—2xy

° Watch Video Solution

44.33 3 fenira & fea ueh, @ uet w3 3 udt 2 gu fég €3:- 100

° Watch Video Solution

45. I fe3 feniaa & R ue, € uet w3 35 udt @ gu &g €3:-

ab—a —b

° Watch Video Solution



https://dl.doubtnut.com/l/_WRJwwI44DKZV
https://dl.doubtnut.com/l/_WgKWO6TlE8OK
https://dl.doubtnut.com/l/_W22Zb4Tjrs7s

46. I5 fe3 feniaa & R e, € uet w3 35 udt @ gu &g €3:-

5— 3t

° Watch Video Solution

47. 35 &3 fenima § fEa ud, @ uet w3 35 et @ gu &g €3:-

4p*q — 4pq®

° Watch Video Solution

48. 3 33 fovira & ffer ueh, 2 et i3 s ueh @ gu %9 €3 T

° Watch Video Solution



https://dl.doubtnut.com/l/_SUaLCZEbsADc
https://dl.doubtnut.com/l/_LsLIo1Xr68tC
https://dl.doubtnut.com/l/_UtVwPxh9Tw1f

49, 5 fe3 feniaa & g e, € uet 3 35 udt @ gu &g €3:-

22 - 32+ 8

° Watch Video Solution

50. & f&3 fenird & fEx e, @ udt 3 f35 udt 2@ gu fég €3:-

a® + b?

° Watch Video Solution

51. 35 3 feniaa § i udl, € udl mi3 35 et 2@ gu fég €3

z2+z

o Watch Video Solution



https://dl.doubtnut.com/l/_4CxtpuXXphaz
https://dl.doubtnut.com/l/_huQ5gSR4AQYU
https://dl.doubtnut.com/l/_IgMBFSi5AZPc

52. J& fd3 feniax & i yet, € udt »3 35 yet @ gu feg €3:-

1+ + z2

° Watch Video Solution

53. TR fa &3 d2 uT © 13 °AN™® UTi @ I& A7 MAH'S UT © I&:-

1, 100

° Watch Video Solution

54, TR fa o3 I2 uT @ A3 AH'® T © I8 AT MAHS Ui © I&:-
5

—Tx, —x

2

o Watch Video Solution



https://dl.doubtnut.com/l/_j1ogwLSX4vAx
https://dl.doubtnut.com/l/_WKp4nODNeLmq
https://dl.doubtnut.com/l/_lVoy8cmxBs3b

55. TH fa &3 d2 uT © 13 AN'® U @ I& A7 MAH'S UT © J&:-

— 29z, — 29y

° Watch Video Solution

56. R fa f£3 d2 uT © 13 AN® UT @ I& A7 MAH'S UT © I&:-

14zxy, 42yx

° Watch Video Solution

57. <R fa f&3 I2 uT € A3 AH'S YT € I& 7 MANS Ui © I&:-

4m?®p, 4mp?

o Watch Video Solution



https://dl.doubtnut.com/l/_1fla73ytzBZ0
https://dl.doubtnut.com/l/_usw43LXywMeB
https://dl.doubtnut.com/l/_zlRauu13vK0y

58. TH fa f&3 d2 uT © 13 AN'® U @ I& A7 MAH'S UT © J&:-

1222, 122222

° Watch Video Solution

50. 35 3 feg Avs uet § U xy?, — 4yz?, 822, 2297, Ty,

— 1122, — 100z, — 11yz, 20z%y,— 622, y, 2xy, 3z

° Watch Video Solution

60. 3 fd3 few mws uet & usE- 10pg, Tp, 8¢, — P°d’,

—Tgp, 100, — 23, 12¢°p?, — 5p?, 41, 2405p, T8qp, 13p%q, qp*, T01p?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZHPTLmKPOf2K
https://dl.doubtnut.com/l/_NypxNtv3CKnQ
https://dl.doubtnut.com/l/_UULFup1IYjY6

61. FH'G Yt § fBSaT Igd HIS &d :- 21b — 32 + 7b — 20b

° Watch Video Solution

62. HH® YTl ffasT dda HIS A9

(o3 1

— 22 + 1322 — 52+ 72% — 152

o Watch Video Solution

63. G UE s dga HaS dd-p — (p —q) — ¢ — (¢ — D)

o Watch Video Solution

64. HAHG ygi § fige Fdd  HI® A9

3a—2b—ab—(a—b+ab) +3ab+b—a



https://dl.doubtnut.com/l/_anK1AroJOn3u
https://dl.doubtnut.com/l/_i4avcjWXJ9NN
https://dl.doubtnut.com/l/_x7gBJouuz9L8
https://dl.doubtnut.com/l/_HjzFHRvpWSiP

o Watch Video Solution

65. AN ygi & fgsT Igd  HIB  dd
5’y — bx? + 3yx? — 3y? + z? — y* + 8zy® — 3y?

o Watch Video Solution
66. FHS g & ffgsr Fgd  HI® 99

(3y2+5y—4) —(8y—y2—4)

o Watch Video Solution

67.13:- 3mn, — 5mn, 8mn, — 4mn

o Watch Video Solution



https://dl.doubtnut.com/l/_HjzFHRvpWSiP
https://dl.doubtnut.com/l/_Uxxhgom0EMQD
https://dl.doubtnut.com/l/_awYzqmAFdVYr
https://dl.doubtnut.com/l/_YlR4kx98G4k6
https://dl.doubtnut.com/l/_iI2JNo1jozXp

68.173:-t — 8tz, 3tz — 2,2 — t

o Watch Video Solution

69.73:- —7mn + 5, 12mn + 2, 9mn — 8, — 2mn — 3

o Watch Video Solution

70.13:-a+b—3,b—a+3,a—b+3

o Watch Video Solution

71.13:- 142 + 10y — 122y — 13,18 — Tz — 10y + Szy, 4xy

o Watch Video Solution



https://dl.doubtnut.com/l/_iI2JNo1jozXp
https://dl.doubtnut.com/l/_dmSBLnwtEU6X
https://dl.doubtnut.com/l/_aRRTnjnFzrFN
https://dl.doubtnut.com/l/_MGF71TGQXgsL
https://dl.doubtnut.com/l/_zSA9VSpByMy8

72.93:-5m — Tn, 3n — 4m + 2,2m — 3mn — 5

o Watch Video Solution

73.13:- 42y, — 3zy?, — bxy?, bxly

o Watch Video Solution

74.193:- 3p°¢% — 4pg + 5, — 10p%¢2, 15 + 9pg + TP*¢°

o Watch Video Solution

75.13:-ab — 4a, 4b — ab, 4a — 4b

o Watch Video Solution



https://dl.doubtnut.com/l/_zSA9VSpByMy8
https://dl.doubtnut.com/l/_wABMCfOXDllC
https://dl.doubtnut.com/l/_aWnwJyclkD2f
https://dl.doubtnut.com/l/_H0yxypkvOHFq
https://dl.doubtnut.com/l/_dKtVeaHgj0jY

76,1322 —y? — 1,y  — 1 — 2% 1 — 2% — 42

o Watch Video Solution

77. W6 - o f&T — 5y?

o Watch Video Solution

78.Wc8 ;- — 122y fe< 62y

o Watch Video Solution

79. WG :- (a + b) €9 (a — b)

o Watch Video Solution



https://dl.doubtnut.com/l/_dKtVeaHgj0jY
https://dl.doubtnut.com/l/_uohv2IYQ3xlO
https://dl.doubtnut.com/l/_KPAsC0EPjpP6
https://dl.doubtnut.com/l/_zPFJsaEenn6B
https://dl.doubtnut.com/l/_8F1znWqZjfhe

80. W8 :- b(5 — a) €9 a(b — 5)

o Watch Video Solution

81. WG - 4m? — 3mn + 8 &3 —m? + 5mn

o Watch Video Solution

8. WG -5z — 10f8d — 22 + 10z — 5

o Watch Video Solution

83. WG - 3ab — 20> — 20° f&d 54 — 7ab + 5b

o Watch Video Solution



https://dl.doubtnut.com/l/_8F1znWqZjfhe
https://dl.doubtnut.com/l/_srr0PqhInTKy
https://dl.doubtnut.com/l/_QuQBBIvvLDQd
https://dl.doubtnut.com/l/_o2ecy39DGGQg
https://dl.doubtnut.com/l/_oD7tc91wIb1C

84. WG - 5p? + 3¢% — pg fE<S 4pg — 5¢° — 3p?

° Watch Video Solution

85.2x2 + 3xy Y3 I96 Bel, x? + zy + o° 9 St Age grdter 37

o Watch Video Solution

86. —3a + 7b + 16 $ Y3 IS BEt 2a + 8b + 10 fEd ot werete?

o Watch Video Solution

87. —az—y +6xy+20 F Yy g5 B,

322 — 4y® + 5zy + 20 f&d ot dwe yRam?

° Watch Video Solution



https://dl.doubtnut.com/l/_oD7tc91wIb1C
https://dl.doubtnut.com/l/_rYrC0Ugh2csq
https://dl.doubtnut.com/l/_PuaHL49Bvvnf
https://dl.doubtnut.com/l/_aJIkHhaetFJw

88.3x —y + 1173 —y — 112 A3eB fed 3z — y — 11 Sw§?

o Watch Video Solution

8. 4+3z M3 5—4zx +222 © 7Azem® &9 322 — 5z ™3

—z? 4+ 2z + 52 AF W6

° Watch Video Solution

90.7m = 2RI Is B A s UzTad:-m — 2

o Watch Video Solution

91.7m =233 Is 3B U3 a3:-3m — 5

Ny


https://dl.doubtnut.com/l/_aJIkHhaetFJw
https://dl.doubtnut.com/l/_BTXbDfAQ6XX8
https://dl.doubtnut.com/l/_o11LXKM078NQ
https://dl.doubtnut.com/l/_Qk5JGZRndm44
https://dl.doubtnut.com/l/_3Hdk7ifn6hR3

| ¥ Watch Video >olution

92.7m = 2Jde3TI& 3 TUT U a3:-9 — 5m

o Watch Video Solution

93.7Am = 233 Is BB A UB U a%:-3m? — 2m — 7

o Watch Video Solution

4.7 m — 2%)%31’331‘?"3’*@)5814316@:-577” 4

° Watch Video Solution

95.73p = —2de3ds 3B U dASG:-4p + 7

ey


https://dl.doubtnut.com/l/_3Hdk7ifn6hR3
https://dl.doubtnut.com/l/_KfpS7ffpja27
https://dl.doubtnut.com/l/_cHGt6lY4gukM
https://dl.doubtnut.com/l/_ViDuz9KHHUDE
https://dl.doubtnut.com/l/_gfZsgO8sB0Bo

l @ Vvatch Video >olution ]

96.7p= — 2RI IsFBANTUETE-—3p> +4p+ 7

o Watch Video Solution

97.78p= — 2RI IsfR3IA B WA —20° — 3> +4p+ 7

° Watch Video Solution

98.d fa3 fenfmd o s usTadAd ¢ = — 13de:-22 — 7

° Watch Video Solution

99.ds fA3 fenima o s usTadad s = — 13J=-—z + 2

ey



https://dl.doubtnut.com/l/_gfZsgO8sB0Bo
https://dl.doubtnut.com/l/_bcOPuJgH3eNl
https://dl.doubtnut.com/l/_LFxtJGriuzaT
https://dl.doubtnut.com/l/_uxwIArrV99wx
https://dl.doubtnut.com/l/_rNxflm2FDrMP

| ¥ Watch Video >olution

100.35 3 fenfrs o g usTadAd s = — 1322 + 22 + 1

o Watch Video Solution

101.ds fR ferfra o s WS adad e = — 13:-222 — ¢ — 2

o Watch Video Solution

102.7ag =2mM3b= — 2RI Is B TUB U I3~ a? + b?

° Watch Video Solution



https://dl.doubtnut.com/l/_rNxflm2FDrMP
https://dl.doubtnut.com/l/_Xo0Fmuy3VtLr
https://dl.doubtnut.com/l/_hsoDh9ScNvTo
https://dl.doubtnut.com/l/_qrmKZXa1NhlQ

10. A a=2mM3 b= —2 J8 3 I B & U® uy3T 93:-

a® + ab + b

° Watch Video Solution

10470 =2m3b= — 2323 I5 BT HBUF AI:-a® — b

o Watch Video Solution

105. 78 a =0, b= — 1 Jd= 3 I& f&3 feniaa & W& U3 ad:-

2a + 2b

° Watch Video Solution



https://dl.doubtnut.com/l/_hGwLKPGrRAWL
https://dl.doubtnut.com/l/_tjpG4YotqQYC
https://dl.doubtnut.com/l/_DNoIQe209JFU

106. 7€ a =0, b= — 1 de 3 I& &3 feniaa T W& u3™ ad:-

2a% + b + 1

° Watch Video Solution

107.7c a =0,b= — 1 J= 37 I &3 ferira @ IS U3 a3:-

2a%b + 2ab® + ab

° Watch Video Solution

108. 7 a =0, b= — 1 Jd= 3 J& &3 fenira T W& u3™ ad:-

a’? + ab+ 2

o Watch Video Solution



https://dl.doubtnut.com/l/_ADL8hJ3i91ke
https://dl.doubtnut.com/l/_Ho2mbwAM6WFI
https://dl.doubtnut.com/l/_CTjKtdcGPGSl

109. fegat fenind & ATS od w13 feas @ HS U399, Ad = = 2 J=:-

z+ 7+ 4(z —5)

° Watch Video Solution

110. feast fenind & Has ad »3 fegs’ @ H8 U3Td4, Ad z = 2 J=:-

3(zx+2)+5x—7

° Watch Video Solution

1M1. g’ fenfAx & AIs 3 i3 feds’ @ HB u3Tad, Ad z = 2 3Je:-

6z + 5(x — 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_3Gpx77vvkRqo
https://dl.doubtnut.com/l/_mrgHTru3pQzy
https://dl.doubtnut.com/l/_ZjmjBmWB4vm5

112. fegest feniAs & Aas ad »i3 feas @B U374, AL z = 2 3J=:-

42z — 1) + 3z + 11

° Watch Video Solution

113. oo fenfAg S Ags g m3 fras e B S usTdd A z = 3,

a= —1M3b= —23=-3z—-5—z+9

° Watch Video Solution

114. fegat fenind § 73S ad »i3 fras e S S Uz ad A = = 3,

a= —1M3b= —23=:-2—8x +4x +4

° Watch Video Solution



https://dl.doubtnut.com/l/_HJqbIF94axhj
https://dl.doubtnut.com/l/_tHLYNz023UJg
https://dl.doubtnut.com/l/_dRfmDeNVIzBK

115. fega feniAg S B I m3 fras e B S UsTdd A z = 3,

a= —1M3b= —23de-3a+5—8a +1

° Watch Video Solution

116. oo fenfAg S g8 I m3 fras e B S usTdd A z = 3,

a= —1mM3b= —23=-10—3b—4—5b

° Watch Video Solution

117. feos fenind & Ho® 3d 3 g @B S Uz ad A z = 3,

a= —1mM3b= —232-2¢a—20—-4—5+a

° Watch Video Solution



https://dl.doubtnut.com/l/_k5wlUjV4erZd
https://dl.doubtnut.com/l/_Gdrfv1qjkXy1
https://dl.doubtnut.com/l/_hH7VpDZrt72z

118.783 2z = 103,37 2% — 3(2 — 10) THS YT 3|

° Watch Video Solution

1M9.78p = — 103,37 p? — 2p — 100 T HB U3T 3|

° Watch Video Solution

120.76dz = 03€ 3222 + 2 — a B 52 §Igd I 3T ¢ THB ot

Jedft?

o Watch Video Solution

121. fenfAx 2(a® + ab) + 3 — ab & HIS a3 M3 forer U & Uz

ddAda =5"M3b= — 33l



https://dl.doubtnut.com/l/_lTcSrtmNMOBY
https://dl.doubtnut.com/l/_z4XhMUCT5lVN
https://dl.doubtnut.com/l/_R8kAFFc4VWru
https://dl.doubtnut.com/l/_IpCDXmumbpfo

° Watch Video Solution

122. §9r9d Bgrel @ U3t 3 g2 g1e v @ sHS S 291 IHT o
43t &% g2 Je fon yarg € nidi & fedaedias wa 7 dgddeat
3 €t 24 AR J|

6 11 16 21 .. Sn+1)..

Adgd gee
are wigt & Hitm n, St A2 37 GHE Sl Tgdt 9uT ¥t € (n) Hgd3

& TagnTger Jftm A gifesd feniAs gdd aHS € HA U B
fam 31 6, 4, 8  Yad € 5,10,100 ¥ia S g8 € Bt fds gurdzr
Hgds3 Jedit?

° Watch Video Solution



https://dl.doubtnut.com/l/_IpCDXmumbpfo
https://dl.doubtnut.com/l/_3HoNBVSTOVkW

123. 979g BOTEl € JURST 3 geTe g miat & SHS & 2| IHT guT
43t 5% g2 Je fon ydrg € nidl & fedacaias win A7 dgd&egt
3 €t 24 AR J|

4 7 10 13 ... Gn+1)..

Adg g
are W &t Hit™ n BEt A 3T BT BEl 7gd! U U3 €1 (n) ©dd3

& Tange Ifenr HiF gife3a feniAa g9a s & A uR fafimr
famir 31 6, 4, 8  Ya1d € 510,100 wiai § g8 € Bt fdd qurdaT €t
#gd3 Jdedft?

° Watch Video Solution

124. 59r9d Bgrel @ U3 3 g2 e vt @ aHS § 21 IHT
43t &% g2 Je fon yarg € »idi & fedacarias wan 7 dgd&egt
3 €t 24 AR J|


https://dl.doubtnut.com/l/_cmO4aK5Uu07N
https://dl.doubtnut.com/l/_2SBJtIg5cerX

2 17 22 .. (5n+2) ..

Adgd g2
are wiat &t Hitm n, St A2 37 GHE Bt Tgdt 9uT ¥3t € (n) Hgd3

& Tagrger Jftm A arfesd feniAa add aHS € HA U 3y

fam 31 6, 4, 8 Y3 € 5,10,100 #ia $ g8 € Bt fds gurdzr
Hgds Jedft?

° Watch Video Solution

125. Hftm™ aHfent €t 95 &3t Arget § Yar das & &t {3 Je =in

gife3d feniadt € Yuiat da:-

st | e ue

@) 2n— 1 |3 5 17 9 19

i} In+2 2 5 g | 1

(iii) dn+ 1 5 9 [ 13 |17

v) | Tn+20 | 27 | 34 | 41 |48 - -
W) nt+ 1 2 s 1w |17 - |- 1| -1 - |0o01]-

o Watch Video Solution



https://dl.doubtnut.com/l/_2SBJtIg5cerX
https://dl.doubtnut.com/l/_x1AKbBLuT6Jt



https://dl.doubtnut.com/l/_x1AKbBLuT6Jt

